SBI PO Mains Model Paper

Reasoning

Directions Q. 1-5): Study the following information and answer the questions given below.

Eight people E, F, G, H, J, K, land M are sitting around a circular table facing the centre. Each of them is of &
different profession— Chartered Accountant, Columnist, Doctor, Engineer, Financial Analyst, Lawyer,
Professor and Scientist but not necessarily in the same order. F is sitting second to tie THfiedcientist is

an immediate neighbour of K. There are only three people betweertidi® and E. Only one person sits
between the Engineer and E. The Columnist is to the immediate righ¢ &ngineer. M is second to the right

of K. H is the Scientist. G antlare immediate neighbours of each other. Neither G nor J is an Engineer. The
Financial Analyst is to the immediate left Bf The Lawyer is second to the right of the Columnist. The
Professor is an immediate neighbour of the Engineer. G is second to the right of the Chartered Accountant.

f ucs z Yo fuE@Hkr tkudkjh dk /;kuiwozZd v/;u dhfytweSjin , x, iz uksa ds makj

vkB O;fDr &, F, G, H, J, K, LvkSM ,d o'rkdkj est ds fxrddUee dh vksjeqag®dss g Sa A mues a
gSa & pkVZMZM |dheideighWkovBYjlh f u; j] foRrh; fo ys-kd odhy] iz
gksR, K ds ck;sa nwljs LFkku ij cSBkk§ B dk fudVre iM+kslh gSA oSKkldigk3jp esa dsoy rhu yksx cSBs
bathfu;j vk& ds chp esa dsoy ,d O;fDr c&Bi-SA|] bathtlsjrRdky nkeEBk dBAK ds nk;sa nwljs LFkku ij cSBK (
H oSKkfud gs&kSy ,d nwljs dsudVre iM+kslh gak#s vkSjughb at hf u; | g FAls rRakyRek;$a ;,gSAf
odhy] LraHkdkjnk;sa nwljs LFkku ij cSBk gis#thakgdddfijidVre iM+kslh GSAKVZMZM ,dkinaikssd/nwljs LFKKu ij
cSBk gSA

1. Who is stting second to the right of E

(1) The Lawyer (2) G (3) The Engineer (4) F (B) K

E ds nk;sa nwljs LFkku g2BEgS

(1) odhy 2) G (3) bathfu;j @F (B5)K Ans:2
2. Who amongst the following is the Professor?

() F (2L )M 4K (5)J

fuEufyflkresa Is dkSu izksQslj gS

hF 2L (3) M 4) K (5)J Ans:4

3. Four of the following five are alike in a certain way based on the given arrangement and hence form
group. Which of the following does not belong to that 'group?

(1) Lawyer- K (2) M- Doctor (3) J- Engineer
(4) Financial Analyst L (5) Chartered AccountartH
nh xbZ O;oLFkk ds vk/Kkj ij fuEufyf[kr ikap esa Is pkj fdlh rjg leku gSa vkSj bl rjg ,d lewg cukrs gSaA og
b | | ewg e\lsa ®kkfey ugha g8
(1) odhy- K (2) M - MKWDVj (3) J- bathfu;
4f oRr h;-Lf o y s {SkpVZMZM ,dkiraVsaV Ans :3
4. What is the position df with respect to the Scientist?
(1) Third to the left (2) Second to the right (3) Second to the left
(4) Third to the right (5) Immediateright

oSKkfuk lanHKEZ dbaLFkfr D;k gS
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(1) ck;sa s rhljk (2) nk;sa Is nwljk (3) ck;sa Is nwljk

(4) nk;sa thljk (5) rRdky nk;sa Ans :2
5. Which of the following statements is true according to the given arrangement?

(1) The Lawyer is second to the left of the Doctor

(2) E is an immediate neighbour of the Financial Analyst

(3) H sits exactly between F and the Financial Analyst

(4) Only four peoplssit between the Columnist and F

(5) All of the given statementwre true.
nh xbZ O;oLFkk ds vk/kkj ij fuEufyflkr esa Is dkSu Ik dFku IR; gS

(1) odhy] MKWDV;j ds ck;sa nwljsALFkku ij gS

2EfoRrh; fo ys-kKd dk fudVre i M+ksl h gS8
B)H,FvkSf oRr h; fo ys-kd ds Bhd chp esa ¢cSBrk gSA
(4) LraHkdkj Vk$ls chp esa dsoy pkj yksx cSBrs gSaA

(5) fn, x, IHkh dFku Igh gSaA Ans:1

Directions (610): Study the following information carefully and answer the given questions:

A, B, C, D, E, F and G are seven friends studying seven different branthasgineering, namely
Mechanical, Chemical, Electrical, Electronics, Civil, Computer and Aeronautical Engineering, no
necessarily in this order. Each of them studies in three different colleges, X, Y and Z. Not less than tv
study in any college. D stuek Electrical engineering in College X. The one who studies Chemical
Engineering does not study in college Z. F studies Aeronautical Engigpeercollege Y with only B. A

does not study in college X and does not study Civil Engineering. E Studies Coifpgieeering and
does not study in college X. G studies Electronics Engineering but not in college X. None in college
studies Mechanical or Civil Engineering.

fulks z W% 6f&UBuf yf [ kr tkudkjh dk [/ ; khitAwozZd v/ ; ; u dlI

Ikr nksLA, B, C, D, E, FvkSG 1 kr vyx&vyx ®kk[kkvksa vFkZkr eSdsf
vkSj ,jksukWfvdy baftfu;fjax dkdj/jgs gSa] ij ;s t:jh ugha gS fd blh Je esa gksaA muesa Is izR;sd rhu vyx&v
X, Y VKSf esa i<+kbZ djrs gSaA fdlh Hkh dkWyst esa nkDOsd#&yghadairsD gk baftfu;fjax dh i<+kbzZ djrk g
og tks dsfedyaftfu;fjax dh i<+kbZ djrk gS] okX didA/ystrkbZ ugha dijrdsgyR ds IkFkdkWyst esa ,jksukWivdy
baftfu;fiax dh i<+kbZ djrkAg8lWyat esa i<+kbZ ugha\difq 9§ fifoy baftfu;fiax dh i<+kbZ ugha &jrdadSvVj
baftfu;fjax dh i<+kbZ djrk gS vkSj oK désdyst+kbZ ugha djrboygsEN/2ksfuDI baftfu;fjax dh i<+gi&Zydjidu og
dkWyxt esa i<+kbZ ugha djrk g®Ledi\WisbZ eSdsfudy ;k flfoy baftfu;fjax dh i<+kbZ ugha djrk gSA

6. Which of the following groups represents the person studying in college Z?

(1) D, B 2)C,E, G B AG (4)G,E, A (5) Noneof these

fuEufyflkr esa Is dk$awg dkWystesa i<+us okys O;fDr;ksa dk izfrfuf/kRo djrk gS

(1) D,B 2 C,E, G B)A G 4)G,E A (5) buesa Is dksbZ ugha
Ans :4

7. In which of the following colleges does C study?
1) X Y )z (4) Either X or Z (5) Cannot be determined
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fuEufyflkr esa Is dkSu Is dk@/ysstldsa djrk gS

(D) X @Y (€)p4 (4);krksX ;kfQjZ  (5)r; ugha fd;k tk Idrk gS
Ans :1
8. Which of the following combinations orrect?
(1) A-Civil-Z (2) B-ChemicalY (3) CG-Chemicalz
(4) G-ElectronicsY (5) None of the above
fuEufyflkr esa Is dkSu Ik la;kstu\lgh gS
(1) A- flfoy -Z (2) B-dsfedyY (3) G dsfedyz
(4) G-bysdVakstyDI (5) mi;ZqDr esa |sudjkebZ Ans :5
9. B studies which of the following branches of Engineering?
(1) Chemical (2) Mechanical (3) Civil

(4) Cannot be determined  (5) None of theabove
baftfu; fjax dh f uBedipgkfgef [ kr f dI ®k k[ kk dh i <+ktk

(1) dsfedy (2) eSdsfudy (3) flfoy
(4) Cannot be determined  (5) None of the above Ans :3
10.Who studies Chemical Engineering?
(1B 2 C 3 E @A (5) None of these
dkSu dsfedy baftfu;fjax dh i<+kbZX djrk gS
1B 2 C () E @ A (5) buesad&sbZ ugha

Ans :2
Directions (Q. 1115): Study the given information carefully to answer the given question.

J, K, L, M, N, O and P live on seven different floors of a building but not necessarily in the same orde
The lower most floor of the building is numbered 1, the one above that is numbered 2 and so on till t
topmost floor is numbered 7. Each one of thedso likes a differensubject namely- English, History,
Commerce, Biology, Accounts, Geography and Computer. (But not necessarily in the same order.)
1 Jlives on an odd numbered floor but not on the floor numbered 3. The one who likes accour
lives immediately above J. Only two people live betwd&iand the one who likes Accounts.
1 The one who likes History lives on one of the odd numbered floors abow@enM.three people
live between L and the one who likes History. The one who likes Commerce livesdiately
above L.
1 The one who likes English lives immediately above thewane likes Computer. P lives on an odd
numbered floor.
1 Only one person lives between K and N. K lives on one of the floors above N. Neither L nor J lik
Biology. N does not like Comerce.

funsZ1&8KEWEIfua Ewfyf[kr tkudkjh dk /:;kuiwoZd v/ ;:u
,d bekjr ds Ikr vyx&vyx eaftyksa ijJ, K, L, M, N, OvkSP jgrs gSa] ysfdu ;g t:jh ugha gS fd mlh Qe
esa gksaA bekjr ds Icls fupys eafty dhd&knids Aij dh eafty dh la[;k 2 gS vkSj blhckdh dh
eaftyksa dh la[;k gS rFkk lcls QOijh eafty ¢
vaxzsth] bfrgkl] okf.kT;] tho foKku] ys[kk] Hkwxksy vkSj dal,wVjA tdysifd @ejbsaybksgS:
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1T J,d fo-ke |l a[; k okys eafty esa jgrk g3dsBhds f
Aij okyh eafty ij jgrk gSdsoy nks O;MrvkSj y${klan djus okys ds chp esggjgrs

! Okg ftls bfrgkl ilan gS dksd s Oi | fdl h ,d f o- k edsoy g O;f vk3{ y s
bfrgkl ilan djus okys ds chp esa jgrs gSaA og ftls okf.kTL ilds BSdok§ okyh eafty ij jgrk gSA

1 og ftls vaxzsth ilan gSlake/Vj ilan djus oklgsBhd Aij okyh eafty ijjgrk gSR, d f o- ke |
eafty esa jgrk gSA

{1 dsoy ,d O;fDM VkSN ds chp esa jgrkkgD ds Aij fdlh ,d eafty ij jgrk gSA u rksL vkSj u ghdks
tho foKku ilan g8liAdkokf.KT; ilan ugha gSA

11.Which of the following subjects does J like?

(1) Geography (2) Computer (3) Commerce (4) History (5) English
fueEufyf[ kr fDiardikgdsa esa | s dkSu | k
(1) Hiksy (2) dal;wVj (3) dkWelZ (4) bfrgkl (5) vaxzsth Ans:4
12.Which of the following combinations is true with respect toghen arrangement?

(1) GeographyL (2) History-O (3) ComputerP (4) AccountsM  (5) Biology-K
fuEufyflkr dk dkSu Ik la;kstu dks ns[krs gq, O;oLFkk ds Yaca/k esa IR; gS
(1) HiksyL (2) bfrgkl -O (3) dal,wMpP  (4) ys[kM (5)tho foKktK

Ans:1

13.If all the people are made to sit in alphabetical order from top to bottom, the positions of how mar
people will remain unchanged?

(1) Four (2) None (3) Two (4) One (5) Three
:fn IHkh yksxksAijdksuhps o.kZekigkde esa cSBK;k tkrk gS] rks fdrus yksxksa dh fLFKer ;Fkkor cuh jgs
(1) pkj (2) dksbZ ugha (3) nks 4) .d (5) rhu Ans: 2

14.Which of the following statements is true with respect to the given arrangement/
(1) The one who likes Computéves immediately below J.
(2) O likes History.
(3) None of the given options is true.
(4) Only four people live betweed and P.
(5) P lives immediately below N.
fuEufyf[kr c;kuksa esa Is dkSu Ik fn;k O;oLFkk ds\laca/k esa IR; gS
(1) og tks dal;wVj ilan djrk g9 d&€Bhd uhps jgrk gSA
(2) Obfrgkl ilan djrk gSA
(3) fn, x, fodYiksa esa Is dkdRZuigkk §SA
(4) dsoy pkj yksl vkSP ds chp esa jgrs gSaA

(5) Pds Bhd uhps jgrk gSA Ans :4
15.Who amongst the followiplives on the floor numbered 27?
QDK (2) The one who likes English
(3) The one who likes Computer.
M 5)O
fuEufyflkr esa Is dkSwilks eafty ij jgrk §S
(LK (2) og tks vaxzsth ilan djrk gS

www.BankExamsToday.Com Page 4



SBI PO Mains Model Paper

(3) og tks dal;wVj ilan djrk gS
4 M 5) O Ans :3
Directions (Q. 1620): Study the following information and answer the given questions:

A word and number arrangement machine when given an input line of words and numbers rearranges tf
following a particular rule in each step. The éoling is an illustration of input and rearrangement.

fuks 2" W1 6&EQFfYf[kr tkudkjh dk /; kuiwoZd v/ ;;u d

®kCn O; oLFkk ,o0a Il a[;k dh O; oLFkk djus okyh ,d e
pj.k esa ,d [kkl fu;e dk ikyu djrs gqg, mls iquO;ZofLFkr djrh gSA uhps buiqV vkSj iquO;ZoLFkk dk ,d mnkgj.k fn

Input: sdtware process revenue 44 providers otherwise 80 demonstrating information sbipping

Step I:  process software revenue 44 providers otherwise 80 demonstrating information shipping 60
Step Il:  process software providers revenue 44 otherwise 80 deratmgtinformation shipping 60
Steplll: process software providers information revenue 44 otherwise 80 demonstrating shipping 60

Step IV: process software providers information demonstrating revenue 44 otherwise 80 shipping 60
Step V: process softwarproviders information demonstrating otherwise 80 revenue 44 shipping 60

And step V is the last step of the above input, as the desired arrangement is obtained. As per
rules fdlowed in the above steps, find out in each of the following questienappropriate step for the given
input.
vkSj pj.kr mi;ZqDr buiqV dk vafre pj.k gS] tSlk fd okafNr O;0LFkk izklr dh x;h gSA mijksDr pj.kksa esa vuglfjr
fn, x, buiqV ds izR;sd iz u esa mi;gDbr pj.k dk i

Input: "inventory quartz B premier 42 customer information system dynamic 15 viewer 36"

16. How many steps would beqeired to get the final output?

(2) Six (2) Seven (3) Five (4) Four (5) None of these
vafre vkWmViqV izklr dj\us ds fy, fdrus pj. kksa
(2) Ng (2) Ikr (3) ikap (4) pkj (5) buesa Is dksbZ ugha
Ans :3
17. Which word/number would be at the 5th place from the left in Step IV?
(1) dynamic (2) 15 (3) quartz  (4) premier (5) None of these
dk Su | k ®k Caes@tka [s bosa Lpkkujjigis ldrk @5 . k
(1) dynamic (2) 15 (3) quartz  (4) premier (5)buesa Is dksbZ ugha
Ans:1

18. Which step number is the following output?
"system customer inventory information dynamic 42 premier 15 quartzb&rv36"
(1) Step V (2) Step IV (3) Step VI (4) Step Il (5) There is no such step
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fuEufyflkr vkWmViqV dkSu Ik pj.k gS
"system customer inventory information dynamic 42 premier 15 quartz 58 viewer 36"
1) pj-kV (2) pj-k IV (3) pj.k VI (4) pj.k I (5) ,Slk dksbz pj.k ugha gS
Ans :5
19. Ifin Step IV 'system' is related to '36' and 'customer’ is related to 'viewer', in the same way, ‘inventory'
related to which of the following?
(1) premier (2) 42 (3) 15 (4) dynamic (5) None ofthese
;fn pj.k IV ed¥ 'system'lacaf/kr @8'Is vkSpustomerlacaf/kr g8wer'Is] rks mih ridinventory'fuEufyf[kr
esa Is fdl Is lacaf/kr gS

(1) premier (2) 42 (3) 15 (4) dynamic (5) buesa Is dksbZ ugha

Ans :2
20. Which of the following represents the position of 'information’ in the third step?

(2) 6th from the left (2) 9th from the left (3) 9th from the right

(4) 6th from the right (5) None of these

fuEufyflkr esa Is dkSu lksrpjjk esaformation'dh fLFkfr dk izfrfuf/kRo djrk gS

(1) ck;sa ls 6Bk (2) ck;sa Is 9oka (3) nk;sa Is 9oka

(4) nk;sa Is 6Bk (5) buesa Is dksbZ ugha Ans :3

Directions (Q.21-25): In each question below are given three statements followed by two conclusions
numbered | andl. You have to take the given statements to be true even if they seem to be at variince w
commonly known facts. Read athe conclusions and then decide veh of the given conclusions logically
follows from the given statements disregarding commonly known facts. Give answer

1) if only conclusion | follows.

2) if only conclusion Il follows.

3) if either conclusion or 1l follows.

4) if neither conalsion | nor 1l follows.

5) if both conclusions | and 1l follos:
funszZ KWEifaps 2 h&RiéFkuvkSjariRlis akd u i BkSilfZ & @SA vkidks fn, x, dFkuksa dks
|l R;, ekuuk gS Hkys gh os | 0oZKkr rF; ksa | s f Hkkua fir
x, dFkuksa dk rdZlaxr #i Is vuglj.k ugha djrk@djrs gS@gSa] Hkys dh logKsaARmtikNeHkh

1); f n ds owaglikdrk gbA k Z
2); T n ds dwyuglkdjrk gSAk Z
3); f n ; kIklklj.Kdpk-gksA k Z
4); f n uk lukdgibrugl.kudirkdgksk Z

5); f n KfvkBH ntksuldgdizk djrk gksA
21. Statements:Some registers are files.
All registers are folders.
All folders are columns.
Conclusions:l. Some registers are not columns
II. All folders being files is a possibility.
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dFku @gN jftLVjQkby gSaA
IHKHftLV] QksyMj gSaA
IHkh Qksydkwye gSaA
f u - ddgM jELVj%dkWye ugha gSaA
Il. IHkh QksyMj ds Qkby gksus db&aHkkouk Ans :2

22. Statements:All solutions are liquids.
No liquid is a mixture.
All mixtures are matters.
Conclusions:l. All solutions being matters is a possibility.
[I. No solution is a mixture.
dFku¥lkh ks Y; q ku fyf DoM gSaA
dksbz fyfDoM feDlpj ugha gSA
IHkh feDlpj eSVj gSA
f u - diHK X s %dse§VKsus dh laHkkouk gSA
l.LdksbZ |1 ksY; g ku feDIpj ugha gSAAns:5
23. Statements:Some pages are pens.
All novels are pages.
No novel is a book.
Conclusions: I. Some pens, if they are novels, are also pages.
II. All books being pages is a possibility.
dFku @gN ist isu gSaA
IHkh uksosy ist gSaA
dksbZ uksosy cqd ugha gSA
f u - ddgMsd] ;fres uksgSyE ist HiglsaA
Il. IHkkeqddsist gksus dh laHkkouk gSA Ans :5
24. Statements:All doctors are professors.
Some doctors are intelligent.
No intelligent is poor.
Conclusions: I. At least some doctors being poor is a possibility.
II. All doctors, if they are intelligent, are also poor.
dFku %ikh MkWdVj izksQslj gSaA
dgN MkWdVj baVsfytsUV gSaA
dksbz baVsfytsUV igvj ugha gSA
f u - ddek de dgNMkWA4 iqvj gksus dh laHkkouk gSA

Il. IHKkiMKkWd¥ij osbaVsfytsUV gSa] rks os iqvj Hkh gSaA Ans:1
25. Statements: No paper is thin.

All thins are circulars.
No circular is a metal.
Conclusions: I. All metals being thin is a @sibility.

[l. Some papers are not circulars.
dFku ¥ksbZ isij fFku ugha gSaA
IHkh fFku IdZqgyj gSaA

www.BankExamsToday.Com Page 7



SBI PO Mains Model Paper

dksbZz IdZqyj esVy ugha gSaA
f u - diHKed/ydSkgksus dh laHkkouk gSA
II. dgN isijldZqyj ugig®A Ans :4
Directions (Q. 26-30): In each questiobelow is given a statement followed by two assumptions numbers | and
Il. An Assumption is something supposed or taken for granted. You have to consider statement and
following assumption and decide which of the following assumption is implicit intétensent.
Give Answer.
(2) If only I is implicit. (2) If only Il is implicit.
(3) If either I or li is implicit. (4) If neither I nor Il is implicit.
(5) If both | and 11 are implicit.
f uns Z  Raebips frz, X, AR;sBl B:8.&&igys ,d dFku fn;k x;k gS fQj mlds uhps nks iwbZYkkj RlekdiiUrsa
X, gSaA dksbz iwozx ghr ;k eku yh xbZ ckr iwozZ/kkj.kk dgykrh gSA vkidks dFku vkSj mlds uhpguihg®a iw
vkSj fQj r; djuk gS fd dkSu Ih iwoZ/kkj.kk dFku esa vUrfuZfgr gSA

mUKj nhft,A
Y41%5 ;fn dsoy iwod/kk]rklifgr gSA Y425 ;fn dsoy iwodlkkikiufgr gSA
Y43% ;fn jkk 1l vUrfufgr gSA Yu4% ;fnluu 11 vUrfufgr gSA

Y45Y% ;ino Il vUrfufgr gSA

26. Statement: Thelargest domestic airlines corporation has ameed new summer schedules in  which

more number of flights in trunk routes are introduced.

Assumption:l. more number of passengers may travel bydhlses corporation during  summer
months in trunkoutes.

Il. Other airlines companies may also increasentimber of flights in all the  sectors.

dFku% Il cls cM+s ?kjsyw ,;jykbUl dkjiksjs kkgdhus
xbZ gSA
iwoZ/kkjkkk s | dr k gS xfeZ; ksa ds bu efguksa esa eq]
Il. gks Idrk gS nwiljh ,;jykbu daifu;kj Hkh bu IHkh IsDVjksaifmikdjuisadesa Ans :1

27. StatementThe chairman of the company decided to hold a gfandtion to celebrate Openirggremony
during the next weekend and invited a large number of guests.
Assumption:l. The company officials may be able to make all teeassary preparatiorier the Opening
ceremony celebration.
II. Majority of the guest invited by the chairman may attend the function.
dFku#laiuh ds v/i{k us vxys lirkgkar ds nkSjku ubZ daiuh ds mn~?kkVu eukus ds fy, HKO; dk;ZZ% djisidk
la[;k esa esgekuksa dks cqyk;kA

iwoZ/kkjkkgk s | dr k gS daiuh ds vf/kdkjh mn~?2kkVu | ek]j
I.gks I drk gS v/ ;{k no~kjk vkeaf=r An§:bkdka k

28. StatemeniThe largest mobile manufacturing company slashed the prices of most of the mobitesdels
by about 15 percent with immediate effect.
Assumptionil. The company may incur heavy losses due to reduction in prices of the mobile.
Il. The sales of mobile manufactured by the compaay imcrease substantially in the

near future.
dFkuk sckby fuekZrk I cls ¢cM+h daiuh us eksckby d.
nhA

iwoZ/kkj.kkgks IdrkgS eksckby dh fderksa esa deh dss dkj.k daiuh dks Hkkjh ?kkVk gsk tk,A
l.gks I drk gS fudV Hkfo-; esa dai ubAnsid ~kj k f
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29. StatemeniThe school authority decided to start summer vacatomses during summer.
Assumptioni. The parents of the school students may protest against the decigierschoohluthority.

ll. Most of the student may join the courses.
dFkutawy Akf/kdkfj;ksa us xehZ disNgivkv&saklu f of HKkUu xzh-e dkyhu dks

iwoZ/kkj kkgks ldrk gS Ldwy ds Nk=ksa ds ekrké&firk Ldwy Akf/kdkfj;ksa ds fu.kz; dk fojks/k djsaA
[I. gks Idrk gS cgqr Is cPpsa bu dk;Z@eksa esa Hkkx ysaA Ans :2

30. StatementThe local civic body has increased water supply about 30% to tide over water crisis.
Assumption:l. This may reduce the water problems of residence.

I.L.Many activities may welcome the civic bod
dFkubok uh ds | adV dks de djus ds fy, LFkkuh; uxj f
iwoZ/kkj.kkgks Idrk gS dbZz fuokfl;ksa dh is; ty deh iw.kZ gks tk,A

II. gks Idrk gS dbZ dk;zdrkZ uxj fudk; dh bl dkjZokbZ dk Lokxr djsaA Ans:1

Directions (Q. 31-35): In each of the following questions a statement is given followed by two courses of
Action. A Courses of Action is taken for improvement, follow up etc. Read the statement carefully and giv
answer.

(1) If only Course ofiction | follows. (2) If only Course of Action Il follows

(3) If either Course of Action | or 1l follows (4) If neither Course of Action | nor Il follows.

(5) If both Course of Action | and Il follows A

furmedZ uk B1 &8 5 E Mo, I R ;s dkgZokig;kjgSaa dkabZ Hidh dkgzokghkfdih lg/kkj ;k vkxs dh fd;k
mUKj nhft,A

Y41Y5 ;fn dsoy dk;AdgghgSA Y42Y%5 ;fn dsoy dk;dbKkgh gSA

Y43Y% ;fn dsoy dk;dagkgi Igh gSA Y.4%5 ;fn nksuksa dk@ dkiighkyghs gSA

Y45Y5 ;frkeuksa dk;akid;ksh gSA

31. Statement:Army has caught some terrorist with heavy arms and warheads in the city.
Course of Actioni. Police should be instructed for night patrolling.
Il. The threepersons should be set free and their movements should be carefully watche
to nab the other criminals.
dFkubos uk us dgN vkradokfn; ksa dks Hkkjh gfFk; kj v
dk;Zokghteqg f yl| dks jkr ddh x r ds funsZ k nsus pkfg,
II. vU; vijkf/k;ksa dks idM+us ds fy, rhuksa O;fDr;ksa dks NksM+dj vudh xfrfof/k;ksa ij /;kuiwoZd utj
Ans :4
32. StatementWeather expert reported that severe drought is to have set in several partsaiuhey.
Course of Action:l. Government should immediately make arrangements for providing financial assistanc
to these affected.
Il. Food, water and fodders etc. should immediately be sent to sdl #reas to save the
peope andcattle.
dFkugéok S1 e f oHkkx us ns k ds fofHkUu Hkkxksa | s xa
dk;Zokdh%elkj dks rgjar AHKkkfor yksxksa ds fy, foUkh; Igk;rk Anku djus ds fy, O;0LFkk djuh pkfg,A
I.yksxksa vk§Sj i kgvksa dk Hkhdksdksa sis fyd ldkstK thuk pkfg,4 |
Ans :5
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33. Statement: At least 15 people were killed and many other injured when a bus fell into a riveranear
bridge.
Course of Actionl. The government should takes make arrangements to prevent such incidents.
II. The bus driver should be arrested immediately to make necessary inquiry.
dFku% iqy ds ikl ,d cl unh esa fxj xbZ ftlls de Is de 15yksx ekjs xkSj dbZ vU; ?kk;y gks x,A
dk;Zokdh%lh ng?kzZVukvksa Is cpus ds fy, ljdkj dks iqy dh Igj{kk ds O;kid bartke djus pkfg,A
I.vko ;d tkap dj c | M¢ k boj dks rqjar fx] Q~rkj
Ans :1
34. Statement: Due to insability in food prices in present, business expert expect that price of ontams
increase in the country.
Course of Action: |. The government of the country should purchase sand store sufficient quantity o
onions in advance to control price.
[I. The government of country should make available network tpriae for the sale of
onionsperiod of shortage.
dFkut%r Zeku [ kk|] ewY; ksa dh vfLFkjrk dskpgsa] fQj kl
gSA
dk;Zokgh% ; kt ds eqY; fu; a=.k dks ekidkrsakkt[lghndjls/ksddpk pkfg,A
Il. I;kt dh deh dh vof/k esa ILrh fc@h ds fy, ljdkj dks miyC/k usVodZ cukus pkfg,A
Ans :5
35. Statement:The announced strike of public road transporters made the daily life lame.
Course of Action: I. The administrators of the city should consider the demands of the transporters.
Il. The adminstrators should give the additional facilities of public road transporters
during the strike period.
dFkutek o zt f ud | M+d i fjogu dh gM+rky dh ?kks-k. kk u

dk;Zokgh®k gj ds | “kkl d dkkdiukpkigk al i ksVZj ksa dh ekax i
LT "kkl dksa dkkSjkglhdZfudkiM+d fidywii§r fofo/kk,; mssh pkfg,A
Ans :5

36. The primary purpose of software is to turn data into
IkfWVos;j esa MKVK  ds :iesa jgrk gS

(1) websites (2) programs (3) information
(4) objects (5) None of these Ans: 3
37. When sending anrraail, the line describes the contents of the message
Tc fdlh dke-mail Hkstk tkrk gS rks ykbu ml eslst ds ckjs esa g¥k
(D To (2) Subject (3) Contents
(4)cc (5) Body Ans : 2
38. The of software contains lists of commands and options :
fdlh IkfWVos;jesadektMMi  ku dh | wph dgk- i) jgrk gS%
(1) menubar (2) title bar (3) formula bar
(4) toolbar (5) None of these Ans:1

39. Background colour or effects applied on a document is not visible in :
fdlh MkD;wesUV ij Mkyk x;k cSdxzkmaM dyj o ,QsDVI dgka ij fn[kkbZ ugha nsrs%
(1) Web layout view (2) Print layout view (3) Reading view
(4) Print preview (5) None of these Ans : 4
40. In MsWord the key FL2 opens a
Ms-Word esa ddatt? [kksyrk gS%
(1) Save As dialog box (2) Open dialoghox (3) Save dialog box
(4) Close dialog box (5) None of these Ans:1
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41.FORTRAN is developed and introduced by :
FORTRAN fdlus cuk;h vkSj dkSu ysdj vk;k Fkk
(1) SONY (2) SEGATE (3) MICROSOFT
(4) IBM (5) NETWARE Ans: 4
42.All the element in an array must be of the :
esa IHkh ,fyesUV dSiggbsus pk
(1) any data type (2) same datatype  (3) any condition
(4) same name (5) None of these Ans: 2
43.RIP stands for
RIP dk iw.kZ :i gS %

(1) Routing Information Protocol (2) Resource Internet Protocol
(3) Randomly Interchange Protocol (4) Rapid Internet Protocol
(5) None of these Ans:1

44.When you use two arguments in a function separate them with a
Tkc ge fdlh QaD ku esa nks osY; dqt Mkyrsa gSa r
(1) .(dot) (2) ,(comma) (3) * (asteric)
(4) /(slash) (5) None of these Ans : 3
45.You can see the preview of the document by pressing
fdlh Hkh MD;wesUV dk fizfo;q ns[kus ds fy, Wki D;k nck,jxsa

(1) Alt + Ctrl + | (2) Alt + Ctrl + S (3) Alt + Ctrl + 1
(4) Alt + Ctrl + M (5) None of these Ans 1
Mathematics

Directions @6-50): Study the table and answer the given questions.

Data related to number of employees in 5 different companies in December, 2012
ikjp fofHkUu daifu;ksa ds bEIlykWbI dh fnlacj] 2012 la[;k Is lacaf/kr vkjdM+s

daifu;k bEIykWhbI dgybEIlykWhbl ds la[;k
day la[k
foKku Lukrqokf.kT; Lukr| dyk Lukrd
dh Tf dh Tf dh Tf
okf.KT; Lukr

M 1050 32%

N 700 31% 40%

(@) 30% 30%

p 40% 20%

Q 35% 50%

Note: I. Employees of the given companies can be categorized only in three types:
fn; gq, daifu;ksab8sykWik fuEuakafdr rhu Jsf.j;ksa esa ckjVk tk Idrk gSSA
Science graduates, Commerce graduates and Arts graduates
foKku Lukrd] okf.KT; Lukrd vkSj dyk LukrdA
II. Few values are misginin the table (indicated by.). A candidate is expected to calculate the
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missing valueif it is required to answer the given questions, on the basis of the given data and information.
dgN vkjdM+s Vscy esa Ng\isig SafdLifits gSAY2
fdlh vH;FkhZ Is xk;c vkijdM¢ksklks k  dj us Vv k S mi Z; gDr fn, X, v k-
nsus dh vk kk dh tkrh gSA
46. What is the difference between the number of Arts graduate employees and Science graduate employee
Company N
daiuN esa dytkukrd bEIykWb vkSj foKku Lukrd bEIykWb ds la[;R esa D;k varj gS
(2) 87 (2) 89 (3) 77 (4) 81 (5) 73
Ans :3
47.The average number of Arts graduate employees and Commerce graduate employees in Camagany Q
312. What washetotal number of employees @ompany Q?
daiulQ esa dyk LukbEIykwKSj okf.kT; Luko&lyk'dbvkSIr la[;k 312 FkhA rks Qagda dqy deZpkfj;kefekdh
D;k Fkh
(1) 920 (2) 960 (3) 1120 (4) 1040 (5) 1080
Ans :2
48. If the respective ratio between the number of Commerce graduate employees and Arts graduate employ
in Company M was 10 : 7, what was the nundfehrts graduate employees in™M
vxj daiuh M esa okfkT; Lukk®j dyk LukrdleZpkfj;ks dk lacaf/kar ¥Qcfkr7 gSA rks Nhaiaba dyk Lukrd
deZpkfj;ksa dh la[;k Kkr djsaA
(1) 294 (2) 266 (3) 280 (4) 308 (5) 322
Ans:1
49. Total numberf employees in Company N increased by 20% from December, 2012 to December, 2013,
20% of the total number of employees in Company N in December, 2013 was Science graduates, what
the number of Science graduate employees in Company N in Deceml&?, 201
fnlacj 2012 Is fnlacj 2013 ds chp ddidl deZpkfj;ksa dh la[;k ®sah 20f6 gksrh gSA vxj thidé fnlacj 2013
dsdqy deZpkfj;ksa @hf@Qku Lukrd Fks rks dliuds fnlacj 2013 esa fd&Kpkfj;ksa dh dqy la[;k fBkih
(1) 224 (2) 266 (3) 168 (4) 252 (5) 238
Ans :3
50. Total number of employees in Company P was 3 times the total number of employees in Company O. If 1
difference between number of Arts graduate employees in Company P and that in Companyl®0was
what was the total number of employees in Company 0?
daiulP ds dqy dezZpkfj;ksa dh la[;k@assh dqy deZpkfj;ksa dh la[;k ds frxquh FkHAwkGjddaild dsdyk
Lukrd deZpkfj;ksa ds chp vUrj 180 dk gSOldsddypkfj;ksa dh la[;k fgkekh
(1) 1200 (2) 1440 (3) 720 (4) 900 (5) 1080
Ans :4
Directions (Q.51-55): Refer to the graph and answer the given question.
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Number of gloves of ‘XYZ’ brand sold in
Town A and Town B in 6 different months

= 400
2 350 .
2 300 -
¢ ey e
2 250
o200 ! \
s W RN
w - :
E 100 =%
= 50
Z 0
Oct | Nov| Dec| Jan | Feb| Mar
—--TownA| 150| 260 | 350 | 270 | 190| 80 -
-=Town B| 120 | 200 | 320 | 300 | 100| 50

51. The number of gloves sold in Town B increased by what percent from October to December?
® k B ¢sa vDVwcj Is fnlacj rd n:rkuksa ds fc@h dh la[;k esa ggbZ c<+ksrjh

2 1 1 2 1
(1) 1655% (2) 1615% (3) 1645% 4) 166§% (5) 1625% Ans :2

52. What is the difference between the total number of gloves sold in both the towns together in January and
total number of gloves sold in both the towogether in Februa®y
n k s & rFRI& esa thogh &kg esa fcds dqy nLruksa dh la[k kg jrrkiBlasa Qh ekg esa fcdsa dqy atrkuks:
la[;k dk varj D;k §S
(1) 280% (2) 270% (3) 290% (4) 260% (5) 250% Ans :4
53. The number of gloves sold in town A in November is hat percent more than the number of gloves sold
Town B in the same months?
uoacj dsAeghubkadesdqPkgBRekgkasf adacgdqgekgLelskakgh ®
(1) 32% (2) 28% (3) 25% (4) 30% (5) 20% Ans :4
54. What is the average number of gloves sold in Town @dtober November, December and March?
® k A ¢sa vDVwcj] uoacj] fnlacj vkSj ekpZ ds eghus esa fcds dqy nlirkuksa dk vkSIr D;k gS
(1) 215 (2) 220 (3) 225 (4) 210 (5) 205 Ans :5
55. The total number of gloves sold in Town B in September 9% B&s than the number of gloves sold in the
same town in October. What is the respective ratio between the number of gloves sold in Segteimber
those sold in Decembar the same town?
® k B ¢sa flracj ekg esa fcds dqy nLrkus vDVwcj ek dhevis{kk 30A riirbch ekg®vk Sy fplacjeekgads
dgy nLrkuksa dk vuqi% D;k'\gS
(1) 2:9 (2)1:5 32:7 (4)4:9 (5)3:10 Ans :3

Directions 66-60): Study the following information and answer the questions that follows:

The premises of a bank are to be renovated. The renovation is in terms of flooring. Certain areas are tc
floored either with marble or wood. All rooms/halls and pantry are rectangular. The area to be renovat
comprises of a hall for customer transactmoeasuring 23 m by 29 m, branch manager's room measuring 13 m
by 17 m, a pantry measuring 14 m by 13 m, a record keeping cum server room measuaribg 22 m and
locker area measuring 29 m by 21 m. The total argheobank is 2000 square metres. Thetof wooden
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flooring is Rs. 170 per square metre and the cost of marble floorirRsid90 per square metre. The locker
area, record keeping cum server room and pantry are to be floored with marble. The branch manager's room
the hall for customer @ansaction are to the floored with wood. No other area is to be renovated in terms c
flooring.

fdl h cSad ds ifjlj dk wuvohdj .k dk; Z gksuk @g&wM+hdk
Aksax gksuk gSR Hhal@l " kky , oa HkaMkj vk;rkdkj gSA ftu {
2 x2Mm®Kk k[ kk T ca/ kd ohx 17d ki HlkaMkyd{k ftldhkyEctbZ pki@M-+KBZ dféikytsfikxk] Ig

ifilsod d{k ftidh yaO pkS@In x 13n ,d ykWdj {ks= ftldh yaO pk80X2m ®k k f ey gSA c¢Sad d
ehVj gSA ydM+h Is lacaf/kr uohdj.k dk;Z esa :0 170 Afr oxZ ehVj vkSj ekcZy Is uohdj.k dk;Z esa : 190 IAfr oxz
gSA ykWdj {ks=] vfHkys[kkxkj Iglifilskd v k S j HkaMkj d{k dk wuohdj . k ekc
Il " kky dk uohdj .k ydM+h | s gksuk gSA vkSj fdlh HKk

56. What is the respective ratio tife total cost of wooden flooring to the total cost of marble flooring?
ydM+h | s |l acaf/ kr Q kZ ds wuohdj .k esa yxs [kpZ
(1) 1879: 2527 (2) 1887: 2386 (3) 1887 2527
(4) 1829: 2527 (5) 1887: 2343 Ans :3
57. If the four walls and ceiling of the branch managers room (The height of the room is 12 metres) are to
painted at the cost &s.190F per square metre, how much will be the total cost of renovation of the branch
manages room including the cost of flooring ?
V X | Ada/kd[ dk KIs pkjksa nhokjksa vkSj Nr Yavxj dejs dh mjpkbZ 12 eh0 gSY2 dks jaxu$ ghs[kpz : 1
®k k[ kk T ca/kd ds dejs ds wuohdj kdks&xdk; Z esa yxk d
(1) Rs.1,36,800/ (2) Rs.2,16,660/ (3) Rs.1,78,790/
(4)Rs.2,11,940/ (5) None of these Ans :5
58. If the remaining area of the bank is to be carpeted at the rd@s.dfl0 per square metre, how
much will be the incremenn ithg total cost of renovation of baptemises?
vXj cSad ds cps {ks= esa : 110 Afr oxZ ehVj ds fglkc Is dkyhu fcNksikfjtjlkdsristoddddik;Z ij dgyfdruk
vi/;O;; gkskk
(1) Rs.5,820¢ (2) Rs. 4,848/ (3) Rs. 3,689
(4) Rs. 6,890/ (5) None of thes Ans :5

59. What is the percentage area of the bank that is ra# tenovated?
cSad ifjlj dk og {ks= ftldk Wwohdj .| ugha gksuk

(1) 2.2% (2) 2.4% (3) 4.2% (4) 4.4% (5) None ofthes
Ans: 2
60. What is the total cost of renovation of the hall for customarstaction and the locker area?
xzkgd ysué&nsu | kky ,o0a yk\Wdj {ks= ds wuohdj . k i
(1) Rs.2,29,100/ (2) Rs.2,30,206/ (3) Rs.2,16,920/
(4) Rs.2,42,440/ (5) None of these Ans :1

Directions ©61-65) : Study the following information and answer the questions that follow:

The Graph given below Represents the Production (in Tonnes) and sales (in tonnes) of Company A from 20C
2011
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uhpsk Q esa esa dai uh A } kj k o {rktdhne2dkOfifk&kX;RgISA ds nk Sj
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The table given below represents the respective ratio of the production (in tonnes) of Company A to the
production (in tonnes) oflCompany B, and the respective ratio of the sales (in tonnes) of Company A to the
sales (in tonnes) of Company B.

uhps Vscy esaAlakillsiutB ds mRiknu Is lacaf/kr vuqikr rFki dakkhdaiwh ds fd@ Is lacaf/kr vugikr fn, x, gSaA

Year Production Sales
2006 5:4 2:3
2007 87 11:12
2008 3:4 9:14
2009 11312 4:5
2010 14:13 10:9
2011 13:14 1:1

61. What is the approximate percentage increase in the production of Company A (in tonnes) from the ye
2009 to the production of Company A (in tonnesthia year 2019
daium ds 2009 ds mRiknu dh vis{kk 2010 esardq,<dgyjcch dk yxHkwx fdruh 1T fr "k
(1) 18% (2) 38% (3) 23% (4) 27% (5) 32% Ans :4
62. The sales of Company A in the year 2009 was approximately what percent of the production of Company
in the same yar?
o- kz 2 QAa@ef dedsha ndahi wor kZ ml h daiuh }\Xkjk ggq, MRi k nt
(1) 65% (2) 73% (3) 79% (4) 83% (5) 69% Ans :2
63. What is the average production of Company B (in tonnes) from the@64arto the year 2021
daiuBd k o0 - k Z rd2d8 @y mHikeu dR &SIr DYk gS
(1) 574 (2) 649 (3) 675 (4) 593 (5) 618 Ans :3
64. What is the respective ratio of the total production (in tonnes) of Company A of the total salet®(ines)
of Company A?
daiutA ds dqy mRiknu dk vkSj dadshdqy fc@h dk lacaf/kr vugikA D;k gS
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(1)81:64 (2)64:55 (3)71:81 (4)71:55 (5)81:55 Ans :5
65. What is the respective ratio of production of Company B (in tonne#)eiryear 2006 to production of
Company Bin the year 2006 to production of Company B (in tonnes) in the year 2008?
dauBds o-kZ 2006 ®@Bsisdgyhw mRkEn20d®dKB dasi dlgy mRi kn
D 2:5 2)4:5 3)3:4 4)3:5 B)1:4 Ans :3

Directions (Q.66-67): In this question, two equations numberddand Il have been given. You have to solve
both the equations and mark the correct answer.

66. |. 4x%- 20x 45 £

. 3y*- 19y 428 £

(D)x<y 2)x>y

(3)x Oy @)x y

(5) relationship between x and y cannot be established Ans :5
67. | 2x*-13x 21 €

Il. By*- 22y +21 €

(D)x<y 2)x>y

(3)x Oy @)x y

(5) relationship between x and y cannot be established Ans :3

Directions (Q.68i 69): What will come in the place of (?) in the given number series?
funs BRoMS EERT uf [ kr | aj%sdelLFBkKUaDkkw Xk esa iz u fpé E

68. 179, 180, 172, 199, ?

(1) 236 (2) 272 (3) 240 (4) 256 (5) 260
Ans .5
69. 14,6,5, 6.5, 12, ?
(1) 29 (2) 27 (3) 23 (4) 33 (5) 35
Ans :1

Directions Q. 70-71): What appropriate value will come in the place of the question mark (?) in the given

guestion? (You are not expected to calculate #xact value)

funs Z@MM BIEDTy f [ kr \bkzs LFkks ipyxHios Dik ekuzvkuk higsp%é vkills Igh ewY; dh x.kuk djus c
mEehn ugha dh xbZ gSAY2

70. 1439 + 16 x 14.99 +/228= -

(1) 1315 (2) 1365 (3) 1215 (4) 1465 (5) 1265
Ans :2
71. 11.97 + 16.0f= ?*x 3.8%
(1) 15 2) 2 3) 4 4)5 (5) 12
Ans :4
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Directions (Q. 72-75): Answer thefollowing questions after study carefully the given radar graph:

Income- Expenditurg100

Expenditure
f u MRABLYKFUEUfyflkkjly xzkQ dk | ko/ kkuhiwozd v/ ;;u dj uhps

I fr-RBku
I fr-Bku &
I fr-8ku

feu 7o auf A = vfae ) o @1 yaefa R o o)
o I B o
et

72. In the yeaR06, the profit of firm A as represented in annual accounting is 20 percent. Find out the expens
made by the firm in that year?

1) Rs.250000 2) Rs.275000 3) Rs.175000

4) Rs.150000 5) Rs.245200 )
0-kZ 20B6seshftikksfekikl se[skak & n; k x; k ykHk Tfr " kr 2¢
gksxk

1% :0 250000 245 :0 275000 3% :0 175000

4% :0 150000 5% :0 245200 Ans :1

73. If the expenses made by the firm C in the year 2007 was Rs. 1.75 lakh, gtevawlthe percentage of
profit in that year?

1) 3896 2) 42886 3)5A™%
4) 5840 5) None of these

; fn Tddrk- BklkZ 2DB 7yl Pkk] :0kkd ykHk T fr " kr D; Kk
1% 3B% 2Y> &84 3v2 586
4%, 58% 5% bubsdksbZ ugha Ans :2

74. Find the average income made by the firm A in whole period.

1) Rs.275000 2) Rs.3000000 3) Rs.2750000

~ 4) Rs.300000 5) None of these

| frABkul Hkh o-kksazZz esa ggbz vkSlr vk; Kkr dhft
1%40 275000 2%40 3000000 340 2750000
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4740 300000 5%uesa Is dksbZ ugha Ans :5
75. What is the increase in percentage of profit of the year 2010 in Company of the previous year?
1) 2008 2) 2010 3) 2007
4) 2006 5) None of these
0-kZ 2010 esa fBdNysvi-k&sahf dmgyu\kl fesakd fdh B&kuf y
1v2 28 2% W 3% Y4
4 33 5% 22 Ans :4

Directions (Q. 76-80): Study the table and information given below and answer the followingiougst

A survey was done by the Central Road and Transport Ministry regarding use of medium of transport in five cities. All tl
information are mentioned in a triangular form. The respective five cities are Pune, Kanpur, Raisen, Surat and
Thiruvananthpuna and the number of people considered in survey are 2000, 4000, 6000, 3000 and 8000 respectively.
The medium of transportation are take to be trains buses and cars.

f u AWABRSOKYMIEWNh xbZ tkudkjh vkSj vkjs[k dk /;kuiwozZd v/;;u djds] Uhpkfy k s a ds mak j n |
dsUnzh; | M+d ,o0a ifjogu ea=ky; }kjk ik-p dpkkxklk s a
ftldk fu:i.k fuEu f=Hkqgth; vkjs]|[ ksasesgg8a ftygeSaAosZ{ksk esa KEef
yksxksa dh la[;k @ekuqlkj 2000] 4000] 6000] 3000 o 8000 gS rFkk ifjogu dh AkFkfedrk ds fy, p;u Vasu] cl rFkk

76. In which city is the number of users of buses is least?

1) Surat 2) Raisen 3) Thiruvananthpuram4) Pune 5) None of these
fdl uxj esa clksa ds A;ksx dhldgkde g&
1% lwijr 2% jK;lsu 3% f=osane 4% iqg.ks 5% buesa Is dksbZ ughsi:4
77. What is the average number of people residing other than Surat and use trains?
1) 1880 2) 1950 3) 1750 4) 1920 5) None of these )
|l wjr ds vfrfjDr vU;, ®kgjksa esl\a V¢gsu dk | ; ksx d

1% 1880 2Y2 1950 3%2 1750 4% 1920 5% buesa Is dksbZ uighsi:1

78. Which means of transportation is useaiskeby the people of all cities?

1) Train 2) Car 3) Bus 4) (b) and (c) both 5) None of the above
|l Hkh ®kgj ksa esa | cls de | \ksx esa yk; k tkus ok\
1¥5 Vasu 2V dkj 3% cl 4Y5 Y42Y5 VKSj Y432 ikéukgksDr esa lsghiasbZ
Ans :3

79. Out of five cities, in which of them, the number of users of cars is less than 30%7?
1) Kanpur and Thiruvananthpuram 2) Pune and Raisen
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3) Pune, Kanpur and Raisen 4) Pune, Kanpur and Surat
5) None of the above
i k- p ®kgjk s%Is@esllesxdlkjsikAfkskufJog(@gsmpNﬂsgSae sa 30
1% dkuigj ,0a f=osane 2%2 iq.ks ,0a jk;lsu 3% iq.ks] dkuigj ,0a jk;lsu

4% iq.ks] dkuigj ,0a lwjr 5% mijksDr esa Is dksbZ ugha Ans :2

80. Which of thefollowing statement is incorrect?
1) the number of people using train for transportation in Kanpur and Raisen is 50% of the people in them.
2) In the cities if Surat and Pune, maximum number of people uses buses for transportation.
3) In the city of Thiuvananthpuram, more than 50% of people uses car.
4) In the city of Raisen, maximum number of people uses trains instead of buses.
5) None of the above

fuEu esa Is dkSu&lk dFku IR} ugha gS

1% dkuigj ,0a jk;Isu esaykéx Vasu dk A:ksx ifjogu, d§rsygSa
2 E ®k g ] l wjr rFkk iqg.ks esa vf/kdrj yksx ifjo
3E ®k g| %fs viladsyksk dkjalk Aeksxadjrs 5 BA
4E ®kgj jk;lsu esa vf/lkdrj yksx ¢l ds LFkku i

5% mijksDr esa Is dksbZ ugha Ans :3

General Awareness

81. According to RBI, which one of the following is the biggest concern of the country?
Hkkjrh; fjtozZz cSad ds vuql kj] fuEufyf[kr esa | s dkS

1) Debt crisis in Europ&;wijksi esa _.k ladV¥2
2) InflationYaeqeekLQhfry2
3) GDP growth¥sldy ?kjsyw mRikn dh fodkl nj%2
4) Fiscal deficitEj kt dks-kh; ?kkVKE
5) None of thes#&abuesa Is dksbZ ugha's Ans : 2
82. 'Mid Day Meal Scheme' has been launched to provideszbfiodto
fdls idk; k ggvk Hkstu miyC/kl djkus ds fy, "~el/l; kgu F
1) Children attending schoéhLdwy tkus okys cPpsz
2) Those who are getting National Old Age Pendioht Ugsa j k-V¢h; o )koLFkk is
3) Workers ofNational Rural Employmerct¥d k - V¢ h; xzkeh. k jkstxkj v/ kfu
4) Resident doctors @gbovt Hospitals in rural aredgxzkeh.k {ks=ksa esa ljdkjh vLirkyksa d jsthMsaV MkWDVijksa:
5) None ofthesevsbuesa Is dksbZ ugha¥s Ans: 1
83. Who amongt the following economists gave the concept of "economies of scale", which says ¢omatsy and
services can be produced more cheaply in long series"?
fuEufyflkresals dkSu vFkZ kkL=h wus i Sekus dh VFKZO; oLFkkvks:
vf/kd ILrs esa mRiknu fd;k tk Idrik gS**
1) Edward C Prescott 2) Amartya Sen
3) Gary S Becker 4) Edmund Phelps
5) Paul Krugman Ans:5
84. Very often we read in newspapers/magazines about "Sovereign Wealth Funds". Which of the following is/ are t
correct description of the same?
MizHkqRo&IEiUu /ku fuf/k** ds ckjs esa ge cgqr ckj v[kckjksdiigifiyikukeaakadk@ds g8aAk Igh fooj.k gS@gSa
(A) These are the fundse the reserves of a government or central bank of a country which are invested further t

earn profitable returns.
;s fuf/l k ,d | jdkj ;gkS a, & kmss ykk Hcksn kd sda & hy ;V ucZS adde kduss Hikse

(B) These are the funds which were accumulated by some people over the years but were not put in active circula
as they retain them as Black Money for several years.
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;sfuflk gSaitkllfy s dgqN o-kksZa esa dgN yksxksa }kjk tek fd
esa dbZ o-kksZa I s vius ikl j[ks gSaA

(C) The funds which are created to be used as relief funds or bailout packages are knoweiga fovds.
oss fuf/k tks jkgr dks-k ;k [kSjkr |l adqgy dkekgSA es
1)BothB&Conly 2)OnlyB 3)Only C

4)Only A 5) None of these Ans: 4
85. Very often we read about Special economic Zones (SEZs) in newspapers. What is the purpose of promoting SEZ
India?

fokkwkfFkzd {ks= ElstE ds cfkgkksekhFkEgk{ osdlsga sd led p

(A) They are established to promote exports.
os fu;kZr dks c<+ok nsus ds fy, LFkkfir fd, x, gSaA
(B) They are established to attract investments from foreign countries.
os fons kh ns kkBkfirft,g,g8ados k vkdf-kZr djus ds fy,
(C) They are established to help the poorest of the poor in India as the activities of these zones are reserved onl
the poors and those living below poverty line.
os Hkkjr esa xjhc Is xjhc O;fDr dh enn djus ds fy dl_kkkfBd D;ksafd bu {ks=ksa dh xfrfof/k;kj dsoy xjhc vkSj xjhc
uhps jgus okys yksxksa ds fy, vkjf{kr gSaA
[) Only A 2) Only B
3)Only C 4) BothA & B only
5) None of these Ans : 4
86. Who amongst the following players recently became the first ever Indian to win a World championship in badminton
gky gh ds&ufyflkresalsdkSu f [ ky k M+h us cSMfeaVu esa fl\o o pSfEIi ;L
1) P Gopichand 2) Saina Nehwal 3) Aparna Popat
4) Nandu M Natekar 5) None of these Ans : 2
87. India recently signed an agreement with which of the following countries so that they are allowed to deal smootf
with the problem of fishermen who cross the Intéamal Maritime Boundary Line?
gky gh dsd&ufyflkr esa I | ns k ds | kFk Hkkjr wus ,d | e>kSrs i]j gl
dh leL;k dks Igpk: :i Is fuiVus ds fy, mUgsa vugerh nh tk Ids
1) Bangladels 2) Sri Lanka 3) Pakistan

4) Myanmar 5) None of these Ans: 2
88. As per new revised rules now, Foreign Direct Investment in insurance sector is possible upto the limit of
vec u, la kksf/lkr fu; dluna &s dhudlhlejk] fdhalk {rids + aHdka i
1) 26% 2) 40% 3) 49%
4) 70% 5) None of these Ans: 3

89. The ratio of the Cash Reserves that the banks are required to keep with the RBI is known as
cSadksa ds fy, Hkkjrh; fitoZ c$afl ds &kl t k u wdnhdHkaikj dswukskD;k ;dgts gSa
1) Liquidity Ratio¥apyfuf/k vuqikrz  2) SLR Y4,1,yvkj%2 3) CRR¥%ilhvkjvkjYz
4) Net Demand & Time Liability/sfuoy ekax vkSj eh;knh ns;rkvksa¥z
5) None of thes&buesa Is dksbZ ugha's Ans: 3
90. The availability of cash and other cdgte marketable instruments that are useful in purchases and investments are

commonly known as
udnh vkSj vU; udnhé&rjg ds foi.ku midj. kkB;adghSami y C/

1) Cash crunch 2) Liquidity
3) Credit 4) Marketability
5) None of these Ans : 2

91. As per newspaper reports, India's trade gap has been showing a negative growth for the last few months. "Trade (
means what?
lekpkj i= dh fjiksVZ ds vuqlkj] Hkkjr ds O;kikj vUrjky fiNys dgN eghuksa Is udkjkRed o°f) ntZ dh xbZ gSA *O;kikj vl
1) Gap between total GDP and total consumption
dqy Idy ?kjsyw mRikn vkSj dqy [kir ds chp vUrj
2) Gap between total imports and total exports
dqy vk;kr vkSj dqy fu;kZr ds chp vUrj
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3) Gap between available liquidity and expected demand in next five months
vxys ikap eghuksa esa miyC/k rjyrk vkSj ekisxatiip wmiBghn
4) Gap between budgeteevenue collection and actual collection of the same
ctV esa jktLo laxzg vkSj mih ds okLrfod laxzg ds chp vUrj
5) None of thes&buesa Is dksbZ ugha's Ans : 2
92. Which of the following programmes was launched to tackle special problemshiatedse areas which are affected
by drought conditions frequently?
fuEufyflkd k ; Zdeksa esa | s dk
ds fvy; ® k\q : fd; k x; k Fk
(A) DesertDevelopment Programme
jstxLrku fodkl dk;Zde
(B) Drought Prone Areas Programme
Iw[kk izo.k {ks= dk;ZQ@e
(C) Watershed Development Programme
tyxzg.k fodkl dk;Z0e
1) Only A 2)Only B
3)Only C 4) BothA & B
5)All A,B&C Ans:5
93. Whenever RBI does some Open Market Operation transactions, adtuadlges to regulate which of the following?
tc Hkh Hkkjrh,; fjtozZ cSad dgN vksiu ekdszZV vdgSWi j s Kk
1) Inflation only
2) Liquidity in economy
3) Borrowing powers ofhe banks
4) Flow of Foreign Direct Investments
5) None of these Ans : 2
94. The maximum amount @he total revenue earned by the Gao¥ftindia comes from
Hkkjr ljdkj }kikviT Zkr dgy jktLo dk\ vf/ kdre jkf k dgka | s vkrk

Su I'k I'wl[ks dh fLFkfr WKdaus vD
k

1) Income Tax Yavk;dj%2 2)CustomsDutf | hek ®kqVYdE
3)Excise DutyE mRi k n 4pMalgeyAdided TaxzewY;&;ksftr djvs
5) Corporate Ta¥fuxe djv2 Ans : 5

95. Which ofthe following is TRUEaboutthe'Single Euro Payment Aread concept very much in news these days?
fuEufyflkr esadlsSu lku fnuksggr T;knk [kcjksa esa jgus okys vo/kkj.kk M,dy ;wjksHkagxrku {ks=** ds ckjs esa Igh gS
(A) Itis a concept floated by the European Union.
;g ;wijksih; la?k kjk tkjh ,d vo/kkj.kk gSA
(B) It aims to create an integrated market for payment services in Euro.
bldk y{; ;wjks esa Hkgxrku Isokvksa ds fy, ,dhd’r cktkj cukuk gSA
(C) It is a contract to@nvert all US dollar paymenisto Euro, whit is a currency almost free frdilactuations in its
value.
;g IHkh vesfjdh MkWyj dks ;wijks] tks fd vius ewY; esa mrkj&p<+o Is yxHkx eqDr gS] esa ifjofrZr djus dk vuqca/k
1) Only A 2) Ony B 3)Only C
4) Only A& B 5) None of these Ans : 4
96. What is Repo Rate?
jsiks nj D;RgS
1) It is a rate at which RBI sell Govt. securities to banks.
;g ,d nj gS ftl ij fitoZ cSad] ljdkjh izfrHkwir;kj cSadksa dks csprh gSA
2) It is a rate at which RBI buys Gowecuritiesrom banks.
;9 ,d nj gS ftl ij fitoZ cSad] ljdkjh izfrHkwfr;kj cSadksa Is [kjhnrh gSA
3) It is a rate at which RBI allows small loans in the market.
;9 ,d nj gS ftl ij fitoZ cSad] cktkj esa NksVs _.k dh vugefr nsrh gSA
4) It is a rate which is offred by Banks to their most valued customers or prime customers.
g ,d nj gS ftls c¢cSadksa }kjk muds Il cls ewY; oku
5) None of thes&4buesa Is dksbZ ugha’s Ans : 2
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97. The 'National EnerggZonservation Day' is observed every year on
"Njpk-Vegh; Otkz Il aj{k.k fnol?* gj o-kZ euk; k tkrk gS&
1) 24th December 2) 14th November 3) 14th October

4) 14th December 5) 24th November Ans : 4
98. Portfolio Management Services (PMS) offered by banksto their customers are subject to regulation by
cSadksa }kjk vius xzkgdksa ds fy, is\V kd k iksVzZQksf

1) Competition commission dfidia (CCI)
2) Securities and Exchange Boardsmafia (SEBI)
3) Forward Markets Commission (FMC)
4) Provident Fund and Regulatory Department (PFRD)

5) The Reserve Bank tridia Ans : 2
99. Credit/Debit card payments made without actually svgphe credit/debit card but by using details on the card are
known as

okLro esa @sfMV@MsfcV dkMLokbi fd;s fcuk] ysfdu dkMZ ij nh xbZ tkudkjh dk mi;ksx djds @sftMV@MsfcV dkMZ |
esa tkuk tkrk gS

1) Over the counter payment (OT)Ransaction
2) Physical/cash transaction
3) ATM Transaction
4) Card not present Transaction (CNP)
5) POSTransaction Ans: 4
100 A Life insurance Plan wherein the policy holder recevdixed amount at specific tiervals throughout théuration
of the policy is known as

, d thou chek ; kstuk ftlesa i kWylh/kkjd i kWfylkhesadh
tkuk tkrk gS

1) Whole life Policy
2) Unit linked Plan
3) Other than thosgiven as options
4) MoneyBack Policy
5) Fixed term Plan Ans : 4
101 As per the reports published in the newspapers, the bpakgularly public sedr banks, are tying up
with various rating agencies for providing a qualitative assessofetite credit needs of the borrowers.
Which amongst the following is/are such credit rating agencies in India?
| ek pkij i =ksa esa izdkf kr fjiksVz ds vugql kijfp ks
i ls ko Ztfud {ks= ds cSadksa] fofHkUu jsfVax ,tsafl;ksa ds IkFk xBtksM+ dj jgs gSaA fuEufyflkr esa Is
,tsalh Hkkjr esa\gS@gSa
(A) CARE (B)CRISIL (C)ULIP
1) Only A 2) OnlyB 3) A&Bonly
4)0OnlyC 5)AIlA,B&C Ans : 3
102. As per the newspaper reports, the RBI is planning to introduce "Plastic Currency Notes". What is/are the
benefits of "Plastic Notes"?
l ek pkj i = ds fjiksVzZ ds vugl kj] Hk k j r hANykfLYdtuks¥ksat*
D;k ykHKk gSa
(A) Their shelflife will be longer.
(B) It will replace plastic money or credit, debit cavaisich are giving birth to many fraudulent practices.
(C) Printing will be cheaper.
1) Only C 2)Only B 3) Only A
4HAIlA B&C 5) None of these Ans: 3
103 'Sub Prime Lending' is a term applied to the loans made to
in MIcizkbe _.k** mu _.kksa ij ykxw gksrk gs tks&
1) those borrowers who do not have a good credit history.
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2) those who wish to take loan against the mortgage of tangible assets.
3) those who have a good credit history and are known to bank since 10 years.
4) those borrowers who are most preferred customers of the bank.
5) None of these Ans:1
104. As per the reports published in various journals and newspapers, the "small borrowers" in rural areas stil
prefer to take informal route for their credit needs. Which of the following is the "informal route"” of credit in
the financial sector? A
fofHkUuiF& =d kv ksa Vvk§Sj l ek pkj i =ksa esa izdkf kjr fji
ds fy, vukSipkfjd ekxZ ysuk ilan djrs gSaA fuEu esa Is dkSu Ik foUkh; {ks= dh "vukSipkfjd ekxZ** gS
1) Credit cards
2) Loan against gold from financial institute
3) Debit cards
4) Moneylender
5) None of these Ans: 4
105 Baselll norms are associated with which of the following aspects of the banking industry?
fuEufyflkr igygvksa esa Is dkSu lk ds IkFcIg$H
1) Risk management
2) Manpower planning
3) Retirement benefits for the employees
4) Corporate governance
5) None of these Ans: 1
106. An insurance scheme for the agriculture sector was introduced by the GudiaofMWhich of the
following represents the name of the same?

dgf-k {ks= ds fy, chek ; kstuk Hkkjr | jdkj\ } kjk
1) NAIS 2) RIDF 3) AICIL
4) CACP 5) None of these Ans:1

107. Which of the following is correct about the Rajiv GhnGrameen Vidyutikaran Yojana ?
fuEu esallsSu Ik jktho xka/kh xzkeh.k fo|grhdj.k ;kstuk ds\ckjs esa Igh gS
(A) The scheme was launched in a few backward states only.
(B) The aim otthe scheme was to provide electricity le all villages having a population of 5000 and above
(C) The scheme achieved its target in less than 10 years time.
1) Only A 2) Only B 3)Only C
4HAIIA B&C 5) None of these Ans : 5
108. Some agreprocessing units make an advance agreement with the farmers and decide to purchase the er
production of certain fruits, vegetables and medicinal plants on an aggeacdtost/price. This type of
arrangement is known as
dgN d° f - k fdlkuksads tkik ,dkfxzb ld3k3rk dks-gPa vkSj ,d Igefr okyh ykxr @ dher ij dgN Qyk
| fCt; ksa vkSj vkS-k/ kh; ikS/ kksa dh i wjh mRi kn
1) Import farming  2) Crop farming
3) Adoptive farming 4) Loan farming
5) Contract farming Ans : 5
109 Which of the following is/are the Nehax Revenue components of the Union Budget of India?
fuEufyflkr esa Is dkSu Hkkjr ds dsaaeh; ctV dh xSj&dj jktlo ?kVd gS@gSa
(A) Custom Dutie€ | hek ®kqVYdE
(B) Interest ReceiptgiC;kt izkflr;kj%2
(C) Dividends and ProfitE y k Hk ka "k vkSj] equkQsE
1) Only A 2) Only B 3)Only Band C
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4) Only C 5AIl A,B&C Ans : 3
110 The investments done by "those fina@ntities which were launched or incorporated in a foreign country
but are investing in an Indian venture in India" are generally known as
"AA"mu fodkh; lalLFkkvksa tks fons k e sjgsa@ksa*dsikk x
fuos k vke rkSj \ij fuEu esa |Is D; k dgk tkrk gsS
1) Patent Money
2) Private Equity
3) Foreign Institutional Investment
4) Current Account Money
5) None of these Ans : 3
111. The concept of "Meeting the needs of presentautitompromising the ability of future generation to
meet their needs", is generally known as the concept of
AMmudh t:jrksa dks iwjk djus ds fy, Hkfo-; dh i
vo/kkj.kk] vke rkSfuEu esa Is fdl vo/kkj.kk ds :lk esa tkuk tkrk gS
1) Climate Migration
2) Sustainable Development
3) StructurdDevelopment
4) Inclusive Growth
5) None of these Ans : 2
112. Which of the following is NOT the component of India's SecurlMesket?
fuEufyflkr esa Is dkSu HKkkjr ds izfrHkwfr cktkj ds ?kVd ugha gS
1) Commodity Futures
2) Small Savings in National Saving Certificates
3) Government Bonds
4) Corporate Equity
5) Derivatives on currency Ans : 2
113 As we all know, Gotz of India pays special emphasis on the magragnt of Fiscal Deficit. What is Fiscal
Deficit?
t SI' k fd ge | Hkh tkurs gSa] Hkkjr 1 jdkj ds jktdk
1) The gap between projected or estim&&P and actual GDP
2) The gap between the total number and value of the currency notes issued by the RBI uptill now ove
the number and value of those which are in actual circulation
3) The gap between the actual borrowings of the Govt of India and pleetex] expenditure for which
provision is made in the budget
4) Excess of Govt's disbursement comprising current and capital expenditures over its current receipts
(Tax! nontax receipts) |
5) None of these Ans: 4
114 Stock market indexdsaditionally served as a benchmark to measure the performance of which of the
following types of portfolios of the investors/promoters?
fuos kdksa@ zeksVjksa ds fuEufyf ][ kr fdd:ilsi,dz dk | (
csapekdZ dh rjg dke djrk gS
1) Equity portfdio  2) Tax saving instruments
3) Mutual Funds  4) Investments in GovBecurities
5) All of these Ans:1
115 Which of the following is the name of the organisations, created to provide full employment and self

reliance to the women folk in India?
fuEu laxBu ds ukeksa esa Is dkSu |k Hkkjr esa efgykvksa ds yksd dks iw.kZ jkstxkjs/kGjcukierukdBjrk iznk
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1) OECD 2) ROSCA 3)SVP
4)USO 5) SEWA Ans:5
116. An agreement, which in fact is a contract, between the RBI and Banks for the sale and repurchase of G
securities and sheterm treasury bills at a future date awod Which the RBindicates "the interest rates

generally known as

ljdkjh i zf r Hkwfr vk§Sj Hkfo-; ds rkjh[k okys vYidkf)
fc@h vkSj iqulkZjhn ds fy, Hkkjrh; fitoZ cSadswitg) abbtkssrki] tks okLro esa ,d vugcal/k gS lekU;r%\D;k dgy
1) Repo Rate 2) Bank Rate3) Reverse Repo Rate
4) Prime Lending Rate 5) None of these Ans:1

117 Under the Pradhan Mantri Jan Dhan Yojana (BMJscheme, each customer who opens his account will

get RuPay debit card with an-iouilt
iz/kkuea=h tu /ku ;kstuk ¥zih,etsMhokbZ%% ;kstuk ds rgr viuk [kkrk [kksyus okys dks izkIr gksrk gS :is Mst

vrfuZfgr &
1) Life Insurance cover dRs.1,00,000
2) Accident Insurance cover &s.1,00,000
3) Crop Insurancef Rs.1,00,000
4) Medical Insurance cover &fs. 1,00000
5) Health Insurance cover &s.1,00,000 Ans : 2
118 Very often we read in theewspapers about various rsaeestaken up to control the flow of the capital in
the Indian markets. Who amongjsé following is/are the regulatovrgho can control the flow of the same in
India?
cgqgr ckj ge Hkkjrh; cktkjksa esa iwath ds izokg dks fu;af=r djus fy, mBk, x;Kisfldsh vikkk{sssdsmirs gSa
izokg dks Hkkjr esa fuEufyflkr esa Is dkSu lk@lIs fu;af=r dj Idrk gS
(A) Indian Banks' Association

(B) RBI
(C) &EBI
1) Only (A) 2)Only (B) 3)Only (C)
4) Both B) & (C) 5) Both (A) & (B) Ans :2

119 Many times we read a term "Hot Money" in newspapers.

What is/are the characteristics of Hot Money?
vikckjksa esa dbZzZ ckj ,d in \"*"gkWV euh** | <+rs

(A) The term is used for fresh cuney notes issued by thBlI.
(B) It is the fund which flows in the market to take advantage of high interest rates.
(C) It is the fund which is thrown in the market to create imbalance in the stock markets.
1) Only (A) 2)Only (B) 3)Only(C)
4) All (A), (B) & (C) 5) None of these Ans: 2
120. Which of the following is/are included in "Deficit Financing" in India? (The term is used frequently in

economic planning.) A
fuEufyflkr esa Is dkSu Ik Hkkjr esa M 2RkVedh FORrk * * ‘el ak ®rk kv Rlyj] fwk f kk Z dy S

gSAY.
(A) Borrowing from the Reserve Bank bfdia
(B) Issue of new currency notes
(C) Withdrawal of past balances/surpluses etc
1) Only (A) 2)Only (B) 3)Only(C)
4) All (A), (B) &(C) 5) None of these Ans:5

English
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Directions (Q. 121155): Read the passage carefully and answer the questions given below it. Certain
words/phrases are given in bold to help you locate them while ansgesome of the questions.

Picking up your fund's latest fact sheet, you notice that the expense ratio is 2.1 per cent. Is that gooc
bad? Can the expense ratio significantly impact returns? Here's the answer.

Expense ratio is the cost incurred fmecate a fund. It is the amount you pay a fudportion of your
invested money every year to manage your money. Expenses include the costs of selling and buying stocl
fund management fee; agent commissions, registrar fees, and selling and prdragpienses.

While different funds have different expense ratios, the SEBIchppedthe amount that funds can
charge based on the type of fund. Equity funds can charge a maximum of2.5 per cent whereas a debt fund
charge 2.25 per cent of the averageekly net assets.

Since this charge is made on the total assets of the scheme, your fund NAV is calculated after deduct
this charge.

But when do you really need to take note of the expense ratio? Well, it depends on the type of fund y
invest in.

Expense ratios for equity funds on an average vary between 2.2 and 2.5 per cent. Considering eq|
funds that havelelivered more than 20 per cent in the last 10 years, a one percentage point change in exper
ratio does not makeraaterial difference.

In actively managed equity funds, expense ratio is secondary. Funds follow different strategies and hz
different levels of portfolichurn, which, in turn, impact returns.

Besides, equity has thmotential to deliver blockbuster returns, which cannmmdhan compensate for
higher expenses in management.

Take, for instance, largeap equity funds over the last five years. The top fursdeh as HDFC Equity,
ICICI Pru Focused Bluechip or Franklin India Prima Rliadl have among the lowest expenseos0f2.22.3
per cent.

But Birla Sun Life Top 100, whose expense ratio is 2.8 per cent, also ranks at the top. So your aim is
select a consistent, gogerforming fund instead of worrying about where it ranks on the ‘expense ratio front. If
you're onsidering two funds with similar strategy and performance, use the expense ratio as a differentiator.

Expense ratio makes a notable difference in debt fund returns as these funds do not generate the
returns equity funds do.

For instance, after delivering close to-1% per cent returns annually, gilt funds took a knock last year.
Returns on gilt funds are down to single digits in the last one year. With d@dongexpected return of® per
cent on such funds, expense ratiake a huge difference. A fund with a 1.2 per cent expense ratio will be
much higher than one with 2.2 per cent ratio.

121. Which of the following should be taken into account while selecting between two funds with similal
strategy and performance?
(A) Expense ratio; the lower the expense ratio the better the results.
(B) Consistently welperforming funds are better thantonsistent ones.
(C) Report of credit rating agencies
1) Only (A) and (B) 2) Only (B) and (C) 3) Only (A) and (C)
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4) Only (A) 5) Only (B) Ans. 1
122. Which of the following is not true about expense ratio? Answer in the context of the passage.

(A) Expense ratio is the cost of managing of fund.

(B) It is the portion of invested money to manage the money.

(C) Expense ratio is arrived at by dividing cost price by expenses incurred on producing an article.

1) Only (A) 2) Only (B) 3) Only (C)

4) Only (A) and (B) 5) Only (B) and (C) Ans. 3
123. Find the statement which is not based on #wtsfmentioned in the passage.

1) A debt fund generates higher returns than an equity fund.

2) Amongst HDFC Equity, ICICI Pru Focused Bluechip, Frankline India Prime Plus and Birlaf8un

Top 100, the last is the worst performer in expense ratio.

3) NAV is calculated after deducting the fund management charge.

4) The expense ratio of 2.1 per cent is a good Indicator for a fund.

5) None of these Ans. 1
124. Which of the following does not form the part of management expenses?

1) The ost of selling and buying stocks

2) Agent commission and registrar fees

3) Selling and promotional expenses

4) Bank overdrafts

5) None of these Ans. 4
125. Why is NAV calculated after deducting charges? Answer in the context of the passage.

(A) Because the charges are calculated on the total assets of the scheme.

(B) Because NAV is at all affected by small charges.

(C) Because NAV is the difference odtrassets and liabilities.

1) Only (A) 2) Only (B) 3) Only (C)

4) Only (C) 5) Only (B) and (C) Ans. 1

Directions (Q. 126128): Choose the word(s) which is/are most similar in meaning to the word printed in
bold as used in the passage.

126. Capped

1) ignored 2) fixed upper limit 3) surpassed

4) introduced 5) cut Ans. 2
127. Delivered

1) formed 2) offered 3) introduced

4) produced 5) awarded Ans. 4
128. Churn

1) freeze 2) performance 3) mixup

4) simmer 5) movement Ans. 3

Directions (Q. 129130): Choose the word/group of words which is most opposite in meaning of the
word/group of words, printed in bold as used in the passage.
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129. Material

1) unimportant 2) physical 3) concrete

4) spiritual 5) objective Ans. 1
130. Potential

1) energy 2) power 3) future

4) tendency 5) disadvantage Ans. 5

Directions (Q. 131135): In the following questions, a sentence has been given with some of its parts in bold.
To make the sentence correct, you have to replace the bold part with the correct alternative given below. |
the sentence is correct as it isgalse give 5) as your answer (i.e. No correction required).
131. The weak are herded like sheep and used as tools in the hands of the strongridiseteder's ends

1) in the |l et2)rtIse elnat er ' s 8)ihd latter's ends.

4) the late ends. 5) No correction required Ans. 3

132. Of the many social evils in the country, the system of dasvmngost worse

1) is more worse 2) is worse 3) is the worse

4) is the worse 5) No correction required Ans. 4
133. Man is caght in a vicious cycle, where hedadless try to gratify his needs

1) endlessly try to gratify 2) endlessly trying to gratify 3) endless in trying to gratifying

4) ended in trying to gratify 5) No correction required Ans. 2

134. A man whois contented with hitots is far happy thana man who is forever seeking happiness through
worldly comforts.

1) lot is far happier than 2) lots is far happier when 3) lots is more happy than

4) a lot is far happier than  5) No correction required Ans. 1
135. A true friend, a rare breed today, watnd by youeven in your worst times.

1) stand besides you 2) stand with you 3) stand for you

4) stand beside you 5) No correction required Ans. 5

Directions (Q. 136140): Each question below has two blanks, each blank indicating that something has been
omitted. Find out which option can be used to fill up the blank in the sentence in the same sequence to mak
it meaningfully complete.

136.A group of seveal hundred people marched towards the eastern part of the city and the  fortress

prison, where they hoped tamd ammunition.
1) raged, hidden 2) roared, saved 3) ripped, treasured
4) charged, acquired 5) stormed, hoarded Ans. 5
137.0ne ofthe most social reforms of the Jacobin regime was the of slavery in thd=rench
colonies.
1) reactionary, break up  2) revisionary, cancédtions 3) revolutionary, abolition
4) leftist, reversal 5) insurgent, split up Ans. 3
138.The previous constition of Nepal, which had beedopted in 1990, the fact that the
final authority with the king.
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1) reflected, rested 2) reproduced, alerted 3) repeated, renewed
4) returnedrevived 5) brooded, recovered Ans. 1
139.Drama had its earliest beginnings in the corporate liteeOvillage, the form of settlement that
took in England.
1) reignng, area 2) predominant, place 3) ascendant, venue
4) arbitrary, reservation 5) controlling, position Ans. 2
140. In the year 1605 the famous Gunpowder plot was as a protest against the sharp
the antiCatholic laws of King James I.
1) effected, administration 2) acted, obligation 3) committed, prescription
4) perpetrated, enforcement 5) executed, coercion Ans. 4

Directions (Q.141-145): Rearrange the following six sentences (A), (B), (C), (D), (E) and (F) in the proper
sequence to form a meaningful paragraph and then answer questions given below.
(A) Regarding a politician who does not keep his word, somebody may contend that people would
punish him by not voting him back to power after five years.
(B) In the commercial world, when a person makes a promise and doesn't keep it, he is considered
have committed a fraud, punishable under law.
(C) Why don't they play by the same set of rules for everyone?
(D) The questionisi s n’ t fongverough a tinre ;1 thé hands of such a crook politician to
destroy the nation?
(E) None.
(F) But when a politician makes a promise merely to get votes and does not keep his commitment,
what'sthe penalty?
141. Which of the following will be th6sECOND sentence after rearrangement?

DA 2)B 3)C 4D 5)F Ans. 5
142. Which of the following will be th& HIRD sentence after rearrangement?

ncC 2)A 3)B 4) E 5)D Ans. 4
143. Which of the following will be thé-IRST sentence after rearrangement?

1) E 2) A 3)F 4)B 5) D Ans. 4
144. Which of the following will be th& AST (SIXTH ) sentence after rearrangement?

1)D 2)B 3)F 4) A 5)C Ans. 1
145. Which of the following will be th&OURTH sentence after rearrangement?

ncC 2)D 3)E HF 5)A Ans. 1

Directions (Q. 146150): In the following passage, some of the words have been left out, each of which is
indicated by a number. Find the suitable word from the options given against each number and fill up the
blanks with appropriate words to make the paraph meaningful.

For a change, the Reserve BanKrafia (RBI) (146) asmarket agerst(147) it to, and did not change its
policy rate from its current level @ per cent. Except that it has made its policy rate more of a signaling
instrument and lessf a means of accessing money from the RBI at that rate. The amount that banks can borrc
from the RBI at the repo rate, which is set by the central bank, has been halved while the amount that banks
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borrow (148) term repos, where the rate is marlleermined via auctionshas (149) beenraised. Similar
market orientation haseen(150) for liquidity as well. The RBI, under governor Raghuram Rajan, would like to
act out the distinctiofiL51) regulator anddministrator.

Just as when' it raisedterest rates the last tinf252) the RBI has fortified the economy against currency
(153) through measures thdiave been(1%4) without any nerveacking reference to turbulenceorEign
portfolio investors are beingncouraged t¢155) in more of thegood stuff. Their knowyour-customer (KYC)
norms are being eased. The local currency future market is being opened up to them.

146. 1) behaved 2) conducted 3) convinced

4) approached 5) talked Ans. 1
147. 1) disliked 2) rejected 3) expected

4) familiar 5) habitual Ans. 3
148. 1) by 2) upon 3) with

4) on 5) through Ans. 5
149. 1) either 2) proportionately  3) definitely

4) permanently 5) never Ans. 2
150. 1) promoted 2) objected 3) pushed

4) promised 5) called Ans. 4
151. 1) between 2) amongst 3) for

4) of 5) about Ans. 5
152. 1) over 2) everywhere 3) around

4) throughout 5) up Ans. 3
153. 1) turmoil 2) bluster 3) havoc

4) fracas 5) turbulence Ans. 1
154. 1) installed 2) instituted 3) inaugurated

4) acted 5) constituted Ans. 2
155. 1) come 2) give 3) take

4) bring 5) plug Ans. 5
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